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General Instructions:

1. All questions are compulsory.

2. The question paper consists of 31 questions divided into four sections A, B, C and
D. Section-A comprises of 4 questions of 1 mark each; Section-B comprises of 6
questions of 2 marks each; Section-C comprises of 10 questions of 3 marks each and
Section-D comprises of 11 questions of 4 marks each.

3. There is no overall choice in this question paper.

4. Use of calculator is not permitted.

WUS-3 / SECTION-A
T T 1 94 H T 1 30F B '
Question numbers 1 to 4 carry one mark each
frqst DEF #! woisli DE @1 EF W #9%: fag R aa1 & 30 waR fem & f& 1
ER=5 cm, RD=25 cm, SD=1.5cm T FS=35cm ¥ | %Y & #1 RS||DF & 71 78l |

R and S are points on the sides DE and EF respectively of a ADEF such that ER=5 cm,
RD=25cm, SD=1.5cmand FS=3.5 cm. Find whether RS||DF or not.

H 914 I : cosh .cosec (90°—6) 1
Evaluate : cos8 .cosec (90° —6)

IfE (1 +cosA) (1 —cosA)= %,msecAaﬂmle

If (1 +cosA) (1 —cosA) = %, find the value of secA.

Iz w 4oft &1 Hrees, Mg @ 3 Aty §, O 9 Fifee fF sgesE, A @ fad o9 dm? 1
If the median of the series exceeds the mean by 3, find by what number the mode exceeds its

mean. "
EUE-§ / SECTION-B
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3 G@ 5 9 10 WAF & 2 3 ¥
Question numbers 5 to 10 carry two marks each.

ﬁgﬁﬁqﬁﬁmqmwmwgmﬁ@rmﬁ% 2
Show that the numbers 231 and 546 are not co-prime.

syt feru fam %ﬁ ZvmeE w9 3 fafau) 2
Write down the decimal expansion of % , without actual division.

k ¥ form wm & forg st Yeite wediento g &1 =i g 76 82 2
2x+3y=1 '

(k-1)x+(2k+y=(k—-1)

For which value of k the following pair of linear equations has no solution ?
2x+3y=1

(k=1)x+@2k+1)y=(k—-1)

=qYs ABCD #, 4% £A=/CDB=90° %, 7 fag #ifsig % AD? + AB*+ CD*=BC | 2
X

D

A B

In a quadrilateral ABCD, if A = ZCDB=90°, then prove that AD” + AB*+ CD” = BC?
C

D

A B

qﬁ.’ﬁmw%ﬁ3cosec9=4a’,ﬁwm% cosec2@ — cot?0=1 | 2

If it is given that 3 cosec © = 4, then verify that cosec?® — cot?0=1.

9 fou e ARERE s gl §, w et ¥ 50 wegd Fi of T o g e € 2

WGl @ &MH 3™

(2 ) 200-250 | 250-300 | 300-350 | 350-400 | 400-450

Sl HI TE&A 06 10 12 08 14

29 9O @ ' H Y YER F1 §991 SRaRa SR § Fefag |

Given below is a frequency distribution table showing daily income of 50 workers of a factory

Daily income of | 550,550 | 250-300 | 300-350 | 350400 | 400-450
Workers (in %) :

Number of workers | 06 10 12 08 14
Change this table to a ‘less than type’ cumulative frequency table.
@Ug-H / SECTION-C

Wy e 11 A 20 F WAE HI3 HF 1
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Question numbers 11 to 20 carry three marks each.

WW%W@,M@IWW:8m50cm,6m25cm3ﬂ'{4m
75cm & | 9% Had ofd B %) o w1 Firae, s fm wEe &t famedi @t ggiy w9 §

g g1

The length, breadth and height of a room are 8 m 50 cm, 6 m 25 cm and 4 m 75 cm
respectively. Find the length of the longest rod that can measure the dimensions of the room

exactly.

feamdt aEUE 2" — 7x + 6 F YT AR o 7 B & A O 959 w9 FifC wH THE o+ 2 7@

B+2%I

2
If « and B are zeroes of a polynomial 2x — 7x+ 6, then form a quadratic polynomial whose zeroes are

o+2and B+2.

afE TR + 8% +kx + 18, TEIE« + 6x +9 & YU AT & S A k FT AH T HIA

Ifx' +8x +kx + 18 is completely divisible by x +6x+ 9, then find the value of k.

oo fafy gRI x 991 y 1 9 T ST |
ax+by=a-b;bx—ay=a+b

Solve for x and y : (by Cross Multiplication Method)
ax+by=a—b;bx—ay=a+b

fem ¥, 9 EF|DC||AB &, @ fag #ify fis AE_BE 3,

ED FC .
A B
E F
Bl 7, C
AE _BF

In the figure, if EF||DC||AB, then prove that —=—.
i g _ ED FC

w

D
afg AABC ~ APQR & 3R AD @& PS €7a @Ivil A 3R P & wafgweis €, @1 fog wifsg f& 3

ar (AABC) _ AD? 3
ar (APQR)  ps?

If AABC ~ APQR and AD and PS are bisectors of corresponding angles A and P, then prove

ar (AABC) _ AD?
that = .
ar (APQR)  ps?

AABC ¥ C 9&I7 81 AfS tanA = L %,?ﬁcosA.cosB—sinA.sinB‘m"lqﬁi‘l‘cTﬁﬁfql

o3

In a triangle ABC, right angled at C, if tanA= .S then find the value of cosA. cosB—sinA.

NE]
sinB.
1 1 1 1

sec x +tan x Cos X COos x sec x —tan x
Prove the identity :
1 = 1 i - 1

sec x +tan x COS X cOos X sec x —tan x
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Fr s siew w1 Arem wfiwfaa Hif
il 1030 |30-50 |50-70 |70-90 |90-110
SRR 15 18 25 10 2
Calculate the mean for the following frequency distribution :
Class 10-30 [ 30-50 [50-70 | 70-90 | 90-110
Frequency |15 18 25 10 =
FHEn X & faenf4ai & wr 19 Fiterar sz § e €
WR (kg H) 40-44 |44-48 [48-52 [52-56 |56-60 | 60-64
faenfoiai 1 wemn 9 10 15 8 7 1
wgeTh R MG HIT |

Weights of students of Class X are given in the following frequency
distribution :

Weight (in kg) 40-44 | 44-48 | 48-52 | 52-56 | 56-60 | 60-64
Number of students | 9 10 15 8 7 1
Find the modal weight.

WUS-Z / SECTION-D
T HEM 21 931 H UAF & 4 3HF T

Question numbers 21 to 31 carry four marks each.

IO T SAURYT W4 1 %9 fafae | Fan 98 Hva & 7 3§t @il &1 HCF sik LeM s
18 3378 &7 310 IT FI T wiferq |

State Fundamental theorem of arithmetic.
Is it poss1ble for the HCF and LCM of two numbers to be 18 and 378 respectively. Justify your
answer.

TEUE xd+4x3 —4x2 - 32032 F QA YIFH 22 a0 242 1 39F oeit g 9 Fiferg )
Obtain all other zeroes of the polynomial x4 +4 x3 —4x2 —32 x —32, if two of its zeroes are 22

and —24/2.

THIE x — 2y + 2 = 0TUT 3x +2y — 18 = 0 T WH IR :
ﬁ%@@ﬁ%xmmaﬁﬁaﬁ%ﬁaﬁﬁé‘wmﬁmammﬁw%ﬁﬁm
Edisidl

Draw the graph of the equations :

x—2y+2=0and3x +2y -~ 18 = 0

Determine the coordinates of the vertices of the triangle formed by these lines and x- axis. Also shade
the triangular region.

T A e foefdl ® gl % fou ogw w23 w folm fem R
8 forenefi w1 €14, @ v faanedf #1 ® 10 sAfis faem | 3fE 16 famnef st 87, ST y@=F F| T 10
=4 frera | farneif=i 1 e =0 & o vos %1 fhad e e 2 e et wmafin sfe w8 2

T el 3 o #9T 39 % for form o @ a2

Rani decided to distribute some amount to poor students for their books If there are 8
students less, everyone will get ¥ 10 more. If there are 16 students more everyone will get T
10 less. What is the number of students and how much does each get ? What is the total
amount distributed ? '

What is the reason that motivated Rani to distribute money for books ?

AABC ¥, AD [« %! wifesa & @91 AM L BC ®1 fag #ifS1T f AB*= AD’— BC x DM+ %BCZ



A

\A', b
o) M C

2
If in AABC, AD is median and AM L BC, then prove that AB*= AD*~ BC x DM + 1 BC*

26 % g Pyl 3 v e ) af s Sl S 16 53 ﬁtm?ﬁﬁ@wx@
et W@ T A S § e w6 Fie )

Vertical angles of two isosceles triangles are equal. If their areas are in the ratio 16 : 25, then
find the ratio of their altitudes drawn from vertex to the opposite side. '

27 A=90° 3R B =45° W GedImyd HIfT

(i) sin (A—B) = sinA cosB — cosA sinB
(ii) cos (A—B) = cosA cosB + sinA sinB
Take A=90° and B =45 to verify that :

(i) sin (A —B) = sinA cosB — cosA sinB
(ii) cos (A—B) = cosA cosB + sinAsinB

;,28’ ﬂ&x=tanA+sinA~3ﬁ1y=tanA—~sinA %,a’!ﬁmfﬁﬁmﬁ;

(ifijz_(x;yfﬂ%f

If x = tanA + sinA and y = tanA — sinA, prove that
(" + yjz N (Lii)z= 1
x =y 2
VZB/ fas aﬂﬁq :

sinA-cosA+1 _ 1
sinA+cosA—1  (secA—tanA)
Prove that :

sinA—cosA+1 1

sinA+cosA—1 (secA—tanA)
3 o st ) s P A e
20 AT 25 91|30 1|35 9T |40 AT |45 AT |50 41| 55 a1| 60 AT
Y A | 3EY [ 3WY | SO9 | 3EY [ SeR | S99 | Sud | sOd
(af H) Afiren | siftes | sif | aifis | atfuss | sifues | sifuss | arfirr | sifires

FHaE]

Sgen 200 [175 1130 (119 (109 |64 |28 15 0

IHI® SRS W, TF 'Q M4F & GHR meﬂwﬁﬁqammwmaﬂﬁq:am
SR g e WY i

Ages of employees of an office are given below :

More | More | More | More | More | More | More | More | More
Age than |than |than |than |than |than |than |than | than
(in or _|or or or or or or or or
years) |equal | equal | equal | equal | equal | equal | equal equal | equal
to20 [to25 [to30 |to35 |to40 |to45 |[to50 |to55 | to60

No. of
Emplo {200 |175 130|119 [109 |64 28 15 0
-yees
Draw a ‘more than type’ ogive and from it, find median. Verify it by actual calculations.
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/{ 1 ararar s A faselt & acdi @1 A S #1485 92 €1 Af IReRaRi w A 70 R, @ 4

T TRSRATE x Ty T HIoC |
Sled T | 300- | 350- | 400- | 450- |500- | 550- | 600-
(= #) 350 400 450 500 550 600 650
Sedl i WA | 5 6 17 x 20 y 4

Mean life time of electric bulbs in the following distribution is 485 hours. If sum of frequencies
is 70, then find the missing frequencies x and y.

Life time 300- 350- 400- 450- 500- 550- 600-

(in hours) 350 400 450 500 550 600 650

Number of

bulbs 5 6 17 x 20 ¥ 4
-0000000-
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